
Fatty acid metabolism (−)
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Tyrosine metabolism (−)
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Propanoate metabolism (−)
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ABC transporters (−)
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Vascular smooth 
 muscle contraction (−)
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Circadian rhythm − mammal (−)
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Aldosterone−regulated 
 sodium reabsorption (−)
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Proximal tubule 
 bicarbonate reclamation (−)
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Phenylalanine, tyrosine and 
 tryptophan biosynthesis (+)
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One carbon pool by folate (+)
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DNA replication (+)
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Base excision repair (+)
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Homologous recombination (+)
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Cell cycle (+)
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Oocyte meiosis (+)
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Progesterone−mediated 
 oocyte maturation (+)
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